48 TEARM=MHESHE

OuT | N
I B 0730
BE S & 88 hi2 = o737
BiE EER B =58 B RIS B &F 0745
B = Bl xR FIE Sk BHE ES o752
= B2 [ i ERE ZH & 0800 |iRE BAAY A 75 HE 2 B 5
B8 N 0807 |ZEh® IE)S B RIS B0 R hE BRR
B2 B =25 LIPS 0815 |Blg KF0
I\ 588 KR & B mAs 0822 |Blg K*0
0825 (MW & B T8 B = e E—-
S5 RE 0830 |l —XK
AR B 0837 |#ige fi2—
BE BE¥ 0845 | LAY RIE
7ol S 0852 (BT &
0855 |F&EL A
EehsT IR 0900 (TR —IE el e fE— BE ¥
IR #568 BR 202 S8 K 0907 |WZA BX B Ik BK —K BRE [E3K
IR P2 0915 (RIS 5AE S BF B f&2
AL - 0922 &K folk 1HEF Mi— A R— £58 2
AH %8 0930 [RBE &F RES fgmlB fi+
P & 0937 |=h 8% A W5 7ol i AR BB
mE £ 0945 |&HFW = E = &l -8 RS &8
EH 1B 0952 MW S
RE M 1000 |=%8 Bi ¥ MIE B 28 N RELE)
=il DL 7afd F0&X E B 1007 |BfE %= Sl BUR BE =g MEr L
1015 |17~ BRfB
BE =@ 10222 |17~ BRfB
BB = 1030 |17~ BAfB
BB = 1037 |17~ BRfB
B =~ 1045 |17~ BRfB
B =~




